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 1שאלה 

 מטרים. 22  א.

 דקות. 56. 1ב

 מטרים. 20. 2ב

 מטרים. 75.  ג

 דקות. 6ד.  

 

 2שאלה 

 AC = 2aא.  

 36.869°ב.  

 a = 6ג.   

 3√54.  1ד

 37.854°. 2ד
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 3שאלה 

 II  f'(x),  גרף   I  f(x). גרף א

,max(0ב.   −
1

2
)min   ,  קצה   (

𝜋

3
 ,−

3

4
),  𝜋, 1.5) max(   ,𝜋, −

1

2
) min(1.5קצה 

−> k >ג.  
1

2
 −

3

4
k < 1 >   או  

1

2
 −

1

2
 

 יח"ר 2.5ד. 

 

 

 

 



 
 

 

 4שאלה 

 X ≠ ±√2.  1א

 X = √2    ,X = −√2  .2א
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 5שאלה 

 a = 4א.  

 x > 0ב.  

 (e , 0)ג.  

 min (e² , −1)ד. 

 ה. סקיצה:

 
 נקודת מכסימום. x = 𝑒3נקודת מינימום  ,   x = eו. 


